1077 RAVIRAVI SANGAM SCHOOL
YEAR 6
MATHEMATICS
WORKSHEET SOLUTION #-1

Question 1:

Refer to Kamal’s shopping list and answer the questions.

Tin Fish $1.80
tea leaves | $0.90
Bar Soap $2.90
Chicken $13.95
a. What is the total expense? 1.80 + 0.90 + 2.90 + 13.95=$ 19.55
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b. How much change will Kamal get if he gives $50 to the shopkeeper? 50.00 — 19.55 = $30.45

c. which item in Kamal’s list was the cheapest? Tea Leaves

Question 2:

Refer to the TV GUIDE given below to answer the questions that follow:

Time Programme a) How long is the Cartoon programme?
12.00 Cartoon b) What time on the 12-hour clock will the
14.00 Cooking with Ben Cooking with Ben programme start?
17.00 News 2pm
17.30 Family Movie (G) c) Nam? the lor.lgest TV programme.
22.00 Japan Rugby Family Movie
Question 3: TRUE/FALSE
a. The symbol { } means an empty set. True
b. Set J = {5, 10, 20, 30, 40, 50, 60). The number False
property of SetJis 13
C. 298 + 627 =924 False
d. 32 x 44 =1408 True
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